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Building Standards in Educational and Professional Testing

SAMPLE PAPER SBOTS 

ENGLISH

Questions 1-3 are based on the following passage.

Young people must be educated in modern science, its methods and its mental attitudes. Without this education they will find the modern world utterly incomprehensible. But they cannot be good citizens of the world, or of their own national state, unless they are intellectually and imaginatively aware of the values which underlie human beliefs, motives and conduct. In this troubled period of human history, religion and the humanities are as vital as science to the education of good members of a good society.

1. “Incomprehensible” can best be replaced by:
A. understandable

B. explicable

C. reasonable

D. beyond your understanding
2. “Troubled period of human history” refers to:
A. primitive times

B. modern times

C. good times

D. bad times
3. The discussion of “values” in the passage serves primarily to illustrate the importance of education of:
A. modern sciences

B. religion or humanities

C. religion and humanities

D. modern sciences along with religion and humanities
Each question below consists of a related pair of words, followed by five lettered pairs of words. Select the lettered pair that best expresses a relationship similar to that expressed in the original pair. 

4. CARPENTER: SAW::

A. stenographer: typewriter

B. painter: brush

C. lawyer: brief

D. tailor: scissors

5. METAPHOR: LITERAL::

A. biography: accurate

B. melody: spoken

C. poem: rhythmic

D. anthem: patriotic
Choose the lettered word or phrase that is most nearly opposite in meaning to the word in capital letters.

6. EXAGGERATION:

A. supplement

B. strange

C. direct route

D. understatement
Identify the word or phrase that needs to be changed for the sentence to be correct:

7. The chef herself will be creating the grand finale of the
A




B

celebration: an extraordinary cake smothered in strawberries and 

being topped with freshly whipped cream. No error
      C


   D



 E
ANALYTICAL SKILLS
According to Albert Einstein's famous theory of relativity, time travel is theoretically possible. Assuming that time travel were to be made possible through some technological breakthrough, it would be advantageous to send someone back in time to prevent the assassination of Archduke Franz Ferdinand in 1914 and thus keep World War I from ever occurring.

8. The argument above makes which of the following assumptions?

A. It is not possible to alter a significant current in world history merely by changing a single event

B. The technology necessary for time travel is likely to be developed in the near future

C. If Franz Ferdinand had not been assassinated, some other catalytic event would have led to the start of World War I

D. The assassination of Franz Ferdinand was the crucial event that triggered the start of World War I

Questions 09-14
In a telecommunications-cable assembly plant, cables are assembled by twisting plastic-coated wires together. There are wires of exactly six different solid colors red, yellow, violet, green, white, and black. Wires must be assembled into single cables according to the following rules:

Each cable must contain at least three wires and wires of at least three different colors.

At most two wires in a single cable can be black.

At most two wires in a single cable can be white.

There can be at most one wire of each of the other colors in a single cable.

If one wire is red, then one wire must be yellow.

If one wire is violet, then no wire can be green.

9. Which of the following could be the-complete set of wires in an acceptable cable?

A. A green wire, a white wire, and a violet wire

B. A violet wire, a black wire, and a white wire

C. A red wire, a black wire, and a green wire

D. A yellow wire and exactly two black wires

10. The maximum number of wires that can be used in an acceptable cable is

A. 8

B. 7

C. 6

D. 5
11. If exactly one black wire and exactly one white wire are used in an assembled cable, which of the following must be true?

A. The cable contains no more than five wires

B. The cable contains exactly six wires

C. The cable contains a yellow wire

D. The cable does not contain a red wire

12. If a white wire and a violet wire must be among the wires chosen for a particular cable, any of the following pairs of wires could complete the cable EXCEPT a:

A. black wire and a second white wire

B. yellow wire and a second white wire

C. yellow wire and a black wire

D. red wire and a black wire

13. If an assembled cable consists of exactly five wires, each a different color, it could be true that a color NOT used is

A. black

B. white

C. green

D. red

14. If there is an additional requirement that violet must be used if yellow is used, which of the following must be true?

A. No cable contains fewer than six wires

B. No cable contains more than five wires

C. Green is never used if red is used

D. Red is always used if violet is used

PAKISTAN ECONOMY
15. The major government policies that can be used to pursue its macroeconomic goals are:
A. fiscal policy and debt policy

B. fiscal policy and monetary policy

C. fiscal policy, debt policy and monetary policy

D. fiscal policy, monetary policy and subsidies

16. In Pakistan, apex regulator of insurance sector is:

A. State Bank of Pakistan

B. Controller of Insurance

C. The Securities and Exchange Commission of Pakistan

D. Ministry of Commerce

17. A central Bank differs from a commercial bank in that:

A. It is the bank of the state

B. It has no branches

C. It has administrative control over other banks

D. It has largest reserves

18. Credit granted from one business to another treated as:

A. Trade Credit 

B. Funds 

C. Short Term Financing 

D. Cash Managements 

GENERAL KNOWLEDGE
19. The headquarter of the European Organization for Nuclear Research, called CERN, is located in ____________?


A. Belgium


B. Switzerland


C. Germany


D. England

20. An ordinary mobile phone communicates by using___________


A. Sound waves


B. Infrared waves

C. UV waves


D. Radio waves

21. The capital of Bangladesh is:

A. Chittagong

B. Dhaka

C. Raj Shahi

D. Khalna

CURRENT AFFAIRS
22. Who became the first Pakistani to summit Mount Everest without the support of supplemental oxygen on 14 May, 2023?

A. Sajid Ali Sadpara

B. Shehroze Kashif

C. Muhammad Ali Sadpara

D. None of These

23. How many National Assembly of Pakistan seats were directly elected in General Elections 2024?

A. 336

B. 342

C. 266

D. 272

24. Who has been appointed as 2nd Female Judge of Supreme Court of Pakistan?

A. Justice Ayesha A. Malik

B. Justice Musarrat Hilali

C. Justice Tahira Safdar

D. Justice (R) Majida Rizvi

25. Currently men’s world football champion is:

A. Italy

B. Argentina
C. Germany 

D. Brazil

 ANSWER KEY 
	Q #
	Right Choice

	1
	D

	2
	B

	3
	D

	4
	D

	5
	B

	6
	D

	7
	C

	8
	D

	9
	B

	10
	B

	11
	A

	12
	D

	13
	C

	14
	C

	15
	B

	16
	C

	17
	A

	18
	A

	19
	B

	20
	D

	21
	B

	22
	A

	23
	C

	24
	B

	25
	B
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